Warm Up 3/27/19

line, y=mx + b passes through the point

1
@ di 1st0 y=4x + 6. What is the

value of b?
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2. Find the y- intercept of: y= 3x> + 12x- 5

U= B(0)+12(0~5
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3. What is the smallest of 3 consecutive positive

Ik
1ntege1’s if the prorauct of the smaller two integer

15 8 less than 8 times the largest integer?
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Main Ideas/Questions

Geometric aBue,ncc of hombers in which

Seqances Faho remains Hae. same
& ommmon it _,pn/.dmo o term by e,
Previods Yteom

Determine whether the following represent geometric
sequences. If yes, identify the common ratio.

1.2 10, 30, 250, ... 2.135 45,15, 5, ..

=5 Ny Y= '/3

3.6, 18, 24, 30, ... & 7, -1 28, b, ..

[\/ O hen r:-Z

5. 80, -40, 20, -10, 6. -9, -36, 144 576

Wes r="'I= l?[u;
leen the geometric sequence, findthe next three temls

7.7,-21, 63,:|83H ST, =\70 \
8.3072, 768,192, 4¥ , V2. &
9.8,4,2 ) \o, | ‘l';‘

200.<5,405, =i lo25 _3:]25 —\S025




The n™ term of a geometric sequence can be found

Seq,gx;g using the following formula: n—-1 ar-{:—rvglrt()n& of
Formula On=Cier o
W b M W, B 7 S - 13-4 Nl -1 .. n-1
Witetheretor | Qn= 53 On=-4H+:"5
then find a;. -7-\
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13. 400, 200, 100, ...

28. 1.5 3.

15.-1, 4,16, .. _ 16.729, 243, 81, .. |

n:-‘l‘L{'Lo an:7ZQ""—-3-

s kel \(
Qg= (-4 Q=729 - --_J?_5 ’2%
409 = - 0. 005726
17.6,-12, 24, ... n_} 1NN 12 I8 . n_}
AOn= (o- _2 h= B .%
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Readl Life The table to the left shows a car’s value for 3 years

Aoplicati after it is purchased. valoe,
19. Write a rule to represent the car's deprecnatlon

Year | Value ($) al 10,8 —— r= l—l l

1 | 10,000 QA =160 ‘J(/-—a

2 8,000 20. What will be the value of the car after 10 years?

3 6,400

Qo = (0,000 S_ EXPonent 4|
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RECURSIVE FORM

dp = dp-1* T

a, = n term
ap.1 = previous term

r= common ratio
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